QUESTIONS & ANSWERS

HPEO-Y53

Building HPE SDN and FlexNetwork Solutions

https://killexams.com/pass4sure/exam-detail/HPEO-Y53



QUESTION: 79

An HP Provision switch is controlled by a team of HP VAN SDN Controllers. In which
settings can the network administrator specify which controller will become the master
controller for the switch?

A. switch OpenFlow instance settings
B. controller team region settings

C. switch OpenFlow controller settings
D. controller team datapath settings

Answer: B

QUESTION: 80
The links marked FCoE link shown in the exhibit are links that need to carry FCoE
traffic. What is the proper redundant design for IRF 1?

A. One VSAN, which is bound to FCoE links on both of the physical devices

B. Two VSANSs, each of which is bound to the FCoE links on only one of the physical
devices

C. Four VSANSs, two of which are assigned to FCoE links on one of the physical devices
and two of which are bound to links on the other device

D. Two VSANS, each of which is bound to FCoE links on both of the physical devices

Answer: D

QUESTION: 81
Refer to Exhibit:



A standard ARP packet arrives on the switch with the flows shown in the exhibit. How
does the switch handle the packet? (Select two.)

A. it encapsulates the packet and sends it to the controller.
B. ft forwards the packet normally.

C. it drops the packet.

D. It transmits the packet on port 200.

E. It transmits the packet on the ports in group table 200.

Answer: A, B

QUESTION: 82
Refer to Exhibit:



oS

A network administrator is setting up the OSPF routing for VPN instance "TenantA."
The configuration shown in this exhibit is not functioning as expected. What must the
administrator do to correct the configuration?

A. Recreate the OSPF instance and bind it to the VPN instance.

B. Change the OSPF process ID to match the VPN instance Route Distinguisher.
C. Tag the OSPF advertisements with the VPN instance Route Distinguisher

D. Enable route leaking on the VPN instance.

Answer: A

QUESTION: 83

A company has a data center, which hosts production services, as well as development
and quality assurance services. The network infrastructure for all services should be
isolated. The company also needs a highly available, resilient large Layer 2 network for
each set of services. What are two technologies that could be combined for the data
center Layer 2 solution?

A. MDC and TRILL
B. SPBM and VPLS
C. SPBM and TRILL
D. VPLS and TRILL



Answer: A

QUESTION: 84
What correctly describes the role of OpenFlow in an SDN solution?

A. OpenFlow regulates the communications among teamed SDN controllers, as well as
between an SDN controller and a network infrastructure device.

B. OpenFlow integrates the SDN controller into a larger management suite, such as the
one provided in the HP Helion CloudSystem solution.

C. OpenFlow is an open standard technology that regulates how the SDN control plane
and the application plane communicates.

D. OpenFlow is a communication protocol that an SDN controller can use to control
how network devices forward traffic.

Answer: D
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